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IECSRGBu3 standard lightness*

* Yoc=Yw  nc=100,

I lEcsroBug=50 (YY) /-6 (Y,=18, ¥,/ 100<Y<=Y, )
I (3,6)=18 1* ,(18)=50,1* ,(90)=137

1* 95=136,71y=1,6, 11,—1/1 6=0,62
* 16=50,0Q $,=50,00 D,=-0,
I*3,618,24,=50,00 Y=18

log[i* /1 ]=

IECSRGBuU3
tristimulus value difference
Yoe=Yw - nc=100,
I lEcsroBua=50 (YY) M6 (Y,=18, ¥,/ 100<Y<=Y, )
log(dY) = (1/1,6) log[1,6¢,/50)] + [1~(1/1,6)] logY)

dYe=5.85,y=1,6, 14=1/1,6=0,6!
dY;4-3,20 $§=50,00 D,;=-0,00 | application
dY; 61,74 Y,=18, dY=3,20 range

1Y,=18
Yn=36 1 Yy=90

log (AY/Y) IECSRGBU3
S=(AYIY) tristimulus value sensitivity

Yoc=Yw nc=100
I lEcsroBug=50 (YY) M6 (Y,=18, ¥,/ 100<Y<=Y, )
log(@dY/Y)= log[L,6(,/50)] - (1/1,6) log¥/Y,)
= (1/1,6) log[1,6¢,/50)] - (1/1,6) log¥)

* =50, dYu 3,20 dYu/Yu 0,1777 .
(dY/Y}o=0,0650y=1,6, 1y=1/1,8=0,62" ¢
(dY/Y)g=0,1777 §,=50,0Q D,=-b,00
(dY/Y}6=0,485Q Y,=18, dY=3, 20
'v,=18

YN=3,6 1 Y90 .

IECSRGBu3
tristimulus value contrast
Cr_(YIAY) Ync‘YW nc‘loo
I lEcsroBua=50 (Y/Y) /16 (Y=18, ¥,/ 100<Y<=Y, )
log(Y/dY)= - log[1,6(/,/50)] + (1/1,6) log{/Y,)
- (1/1,6) log[1,6Y,,/50)] + (1/l,§>)40g({)

=50, dY,=3,20 Y,/dY,=5

4 1
(Y/dYps=15,2,y=1,6, 1§¥=1/1,650,62
(Y/dY)g=F,02 §=50,00 D,=-0,Q0  application
(Y/dY), 62,06 Y,=18, dY;=3,20 y range

1Y,=18
Ya=3.6  Yyw=90

|IECsRGBuA relative standard lightnesd*/I* ,
I Yoc=Yw - nc=100,

I |EcsraBua=50 (Y/Y) -6 (Y,=18, Y,/100Y<=Y,o)
I \(3,6)=18 1* ,(18)=50,I* ,(90)=137

¥ goll* =2 73 V=16, 14=1/1,6=0,62
*1g/l* =100 $750,00 D,=-0,0
* 3. _o 36 *,=50,00 Y=18

log[i*/I* ]=0, m,=0,62

log(AY/AY,) IECSRGBUS relative

tristimulus value difference
NNy Yoc=Yw - nc=100,
I |EcsreBua=50 (Y/Y) -6 (Y,=18, ¥,/100Y<=Y,o)
log(dY/dY,) = [1~(1/1,6)] loglY/Y,)

dYey/dY,=1,82,y=1,6, 1y=1/1,6=0,62
dY;¢/dY,=1,00 §=50,0Q D,=—0,00
dY3 ¢/dY,=0,54 Y,=18, dY=3,20
=50, dY,=3,20 dY,/Y,=0,1777 =
log[(dYY(dY),]=0, m,=0,3Z ~ =
> 1 application
1 nge
1y =18
Ya=3.6  Y\y=90

log [(AY/Y) 1 AYIY),] IECSRGBUS relative
tistimulus value sensitivity

SISu=@YMIAYN) v =y, =100

nc
I |EcsroBua=50 (Y/Y) 16 (Y,=18, Y, /100Y<=Y,o)
logl(dYMI(AY/Y),] = - (1/1,6) logl/Y,)

(dY/Ypo/(dY/=0,36,y=1,6, 1§=1/1,6=0,62

(dY/Y)g/(dY/Y§=- 90 §=50,00 D=-0,00

(dYIYy gAYV )2, yw 18 dY=3, 20appllcation
range

"\
log[(dY/YY(dY/Y),]=0, m,;=—0,62
=50, d¥,=3,20 dY,/Y,=0,1777 }

1y,=18
Yn=3.6  Yw=90

N4

log [(Y/AY) 1 (YIAY),] IECSRGBUS3 relative
tistimulus value contrast

ColCy = (YY), v 2y 2 2160

I |EcsroBua=50 (Y/Y) 16 (Y,=18, ¥, /100Y<=Y,o)
logl(Y/dY)/(Y/dY),] = (1/1,6) logiY/Y,)

(YIdYyo/(Y/dY)=2,73,y=1,6, 14=1/1,6=0,62
(Y/dY)g/(Y/dY}=1,00 $=50,0Q D,=-0,00
(Y/dY} f(Y/dY)=0,36 Y,=18, dY=3,20 |
A
log[(Y/dY)(Y/dY)]=0, m=0,62
=50, dY,=3,20 Y,/dY,=5 . =~
< application
range
1Y,=18

Yw=90

IECSRGBuS3 standard lightness.*

L* Yoc=L*w - nc=100

L* |csraBus=B0 (Y/Y,) 1 6(Y, =18, Y,/ 100<Y<=Y, o)
L*(3,6)=18,L* ,(18)=50,L* (90)=137

L*g5=136,71y=1,6, 14=1/1,6=0,62
L*15=50,00 $=50,0Q D,=-0,00
L*3,6=18,241%,=50,00 {=18

1
1Y, =18
MN=3,671 Yy =00 T

BEV30-1A

logAY) IECSRGBu3

AY tristimulus value difference
Yo=L*w  ne=100,

L* 1EcsreBus=50 (Y/Y,) 1 6(Y, =18, Y, /100<Y<=Y, o)

log(dY) = (1/1,6) log[1,6¢,/50)] + [1-(1/1,6)] logY)

dYe=5,85,y=1,6, 14=1/1,6=0,6:
dY;g=3,20 $§=50,00 D,=-0,00 | application
dY; 61,74 Y,=18, dY=3,20 0 range
1Y,=18
Ya=3.6 1Yy=90

BEV30-3A

log AY/Y) IECSRGBu3
_ tristimulus value sensitivity
S=(@AYH) YomL*w =100

nc’
L* 1EcsreBus=50 (Y/Y,) 1 6(Y =18, Y, /100<Y<=Y, o)
log(dY/Y)= log[1,6(Y,/50)] - (1/1,6) log{/Y,,)
= (1/1,6) log[1,6¢,/50)] - (1/1,6) logl)

application
range
*,=50, dYu 3,2Q dYU/Yu 04777 v S
(dY/Y))o-O 0650y=1,6, 1§=1/1,8=0,62" ¢
(dY/Y)g=0,1777 §=50,0Q D,=-9,00
(dY/Y} 6=0,4850 Y,=18, d\=3, 2[)
Y =18

YN=3,6 1 Yg=90 .

BEV30-5A

log (Y/AY) IECSRGBu3
C=(Y/AY) g;nlinrl_rlulus Vilcu—el ggntrast
L* |EcsraBus=50 (Y/Yy) 1 6(Y,=18, Y, /100<Y<=Y, o)
log(Y/dY)= - log[1,6(/,/50)] + (1/1,6) log{/Y,)

- (1/1,6) log[1,6Y,,/50)] + (1/1,§Hog({)

* =50, dY,=3,2Q Y,/dY,=5 ,/,/f

4 1
(Y/dYy=15,32,y=1,6, 14=1/1,650,62
(Y/dY)g=5,62, 0,00 D,=-0,Q0  application
(Y/dY} ¢=2,06 Y,=18, dY;=3,20 y range

1Y,=18

BEV30-7A
BEV30-7N

TUB-test chart BEV3; IECSRGBuS® & L* for Y/Y, with additional dataYnc=
Absolute and relative lightness, sensitivity and cont&st0,00,

|IECsRGBuS relative standard lightness */L*

LHIL* Yoc=L*w - nc=100,

L* iEcsraBug=50 (Y/Y) /-6 (Y,=18, Y,/ 100<Y<=Y,o)
L* (3,6)=18,L* ,(18)=50,L* y(90)=137

L*go/L*=2,73,y=1,6, 1y=1/1,6=0,62
L*1¢/L*=1,0Q §=50,0Q D,=-0,00
L*3 ¢L*,=0,36,L%,=50,0Q =18

log[L*/L* ]=0, m,=0,62 >

BEV30-2A
log(AY/AY,) IECSRGBUS relative
AYIAY tristimulus value difference
u Yoe=L*w - ¢ - n=100,
L* lEcsroBua=50 (YY) /-6 (Y=18, Y,/ 100<Y<=Y,)
log(dY/dY,) = [1~(1/1,6)] loglY/Y,)

dYeo/dY,=1,82,y=1,6, 14=1/1,60,62
dY;g/dY,=1,00 $,50,00 D,=-0,00
dYs,¢dY,=0,54 Y,=18 dY=3,20

3
log[(dY)(dY)u]

application
nge

1y,=18
NN=3601 Y =90 T

BEV30-4A
log [(AY/Y) | (AYIY),] IECSRGBUS relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100

nc

L* lEcsroBua=50 (Y/Y,) -6 (Y=18, Y,/ 100<Y<=Y,o)
logl(dYM)(AY/Y),] = - (1/1,6) logl/Y,)

(dY/Ypo/(dY=0,36,y=1,6, 1§=1/1,6=0,62
(dY/Y)g/(dY/Y§=. 9Q §=50,00 D=-0,00
(dYIYy gAYV )2, yw 18, dY=3,20

appllcation
range
1\
Iog[(leYy(leYL] =0, m;=-0,62
L* =50, dY,=3,2Q dY,/Y,=0,1777 |
1y =18
Yn=3,6  Y\=90

BEV30-6A
log [(Y/AY) I (YIAY),] IECSRGBUS3 relative
tistimulus value contrast

CrlCoy =(YIBVI(YIAY), 2%,

nc™

L* lEcsroBua=50 (YY) /-6 (Y=18, Y,/ 100<Y<=Y,)
log[(Y/dY)/(Y/dY),] = (1/1,6) logiY/Y,)

(Y/dYbOI(Y/dY), 2, 73 Tl,ﬁ 1xr1/1 6=0,62
(Y/dYYg/(Y/dY)= ,00 D=-0,00
(Y/dY, d(Y/dY o 36 Yu 18, dn 3, 20,

application
range

1Y,=18
Y=90

BEV30-8A
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